MATH 180A (Lecture AQQ)

Today: Normal approximation of Bin(n,p)

Next: ASV 4.2-4.3

Week 7:
no homework
Midterm 2 on Wednesday, March 1 (lectures 8-18)

Homework 5 due Friday, March 3



"This section is among the most significant ones
In the text, and one whose message should stay
with you long after reading this book. The idea
here is foundational to just all human activity..."

Introduction to Probability D. Anderson, T. Seppaladinen, B. Valko
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F“PF‘“S o fair coin 10000 Fimes

X = numbec of Hauls
Find (&??fm«imw&e‘\jﬁ P(HBSO LK ¢
X«/Bir\(lOOOOll?_) ( n.F(l-P)

E(X)= nhp=s000

G‘(XB =(h\o(\-(}j=\{\0000"§_“é = (_ZE_OJO- =50

P( 4aso ¢ X LSDSO\ ]7( waso 000 ,

K- Sooo Ci:
= P(_\ ¢ So s -~

PXe

-

7 4 0.00 0.01 0.02

0.0 | 0.5000 0.5040 0.5080

0.1 | 0.5398 0.5438 0.5478

0.2 | 0.5793 0.5832 0.5871

03 | 0.6179 0.6217 0.6255

0.4 | 0.6554 0.6591 0.6628

0.5 | 0.6915 0.6950 0.6985

0.6 | 0.7257 0.7291 0.7324

0.7 | 0.7580 0.7611 0.7642

0.8 | 0.7381 0.7910 0.7939

SDSOB 0.9 | 0.8159 0.8186 0.8212
1.0 | 08413 0.8438 0.8461

1.1 | 0.8643 0.8665 0.8686
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